640 LC4 SUPERMOTO BLUE 2005 <2005><AU, GB><9760E5>

ACCESSORIES
2374
# ONLY FOR HANDLEBAR DIAMETER 22 M
Pos Part Number Description Additional Text Quantity

1 6000207910030 HANDGUARD L/S+R/S CPL.BLCK 1.00
13 0014060153 HH COLLAR SCREW M 6X15 WS=8 0.00
14 0014060103 HH COLLAR SCREW M 6X10 WS=8 1.00
15 58303005244 SKID PLATE PLASTIC PLASTIC 1.00
16* 50314068050 CLAMP FOR TRIPMASTER-SWITCH 03 1.00
17 0017060203 EJOT PT SCREW K60X20 WS=6 MXC, EXC 1.00
18* 0965040125 FLAT HEAD SCREW DIN0966-M 4X20 1.00
19 58412099044 SKID PLATE LIMITED CPL. 97 ALUMINUM 1.00
20 54308042000 RUBBER BUFFER 4.00
21* 0934040003 HEXAGON NUT DIN0934-M 4 1.00
22 58003012200 ENGINE PROTECTOR BRACKET '97 2.00
29* 54814073000 TRIPMASTER-SWITCH 05 1.00

* = New part



